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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 	0 1 1 4 5 
December, 2013 

BECE-016 : ECONOMIC DEVELOPMENT : 
COMPARATIVE ANALYSIS AND 

CONTEMPORARY ISSUES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Long Answer Questions 

Attempt any two questions from this section 

(in about 500 words each) : 	 2x20=40 

1. "The purpose of development is more than mere 

production, productivity and consumption of 

sophisticated gadgets". Discuss. Examine extra-

economic social and community aspects of 

development. 

2. Explain capitalistic approach to economic 
development. Explain the characteristic features 
and historical stages of growth of capitalism. 

3. What is Public-Private Partnership ? Explain the 
strengths, main features and major forms of 
Public-Private Partnership. 
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4. Critically examine the emergence of global trading 
system. Discuss the relevance of world Trade 
oraganisation for developing countries. 

SECTION - B 
(Medium Answer Questions) 

Attempt any three questions from this section. (In 
about 250words each) 	 3x10=30 

5. What are Special Drawing Rights (SDRs) ? How 10 
are SDRs concerned with international payment's 
problem ? 

6. Evaluate the role of information technology in 10 
enhancing the growth and overall economic 
performance. 

7. Examine economic implications of globalisation 10 
for a country such as India. 

8. Explain the characteristics of India's trade with 
	

10 
Africa. What is 'Focus Africa Programme' ? 

9. What do you mean by governance ? What are 10 
the features of good governance ? 

SECTION - C 
(Short Answer Questions) 

Answer all the questions from this section. (In 
about 100 words each) 	 3x5=15 

10. Write short notes on any three of the following: 
(a) E-chaupal 
(b) Transnationalisation 
(c) Dollarisation of world economy 
(d) Special economic Zones 
(e) Market Socialism. 

BECE-016 	 2 



11. Distinguish between any three pairs of the 
following ; 	 3x5=15 
(a) Growth and Development 
(b) Warranted rate of growth and natural 

rate of growth 
(c) Public Sector and Private Sector 
(d) unemployment and Disguised 

Unemployment 
(e) Competitive Advantage and comparative 

Advantage. 
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